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I-Ca1culer les limites suivantes :

I' e'-I .
1

' ~
1m1 ( _ I) . Im.2 ? "1"->0 n.\ + 1"->:1 .\ - _.\ -,)

2-0n donne: A = e"1"+e' _e'+r _e.1

a) Factoriser A.
b) Resoudre l'equation A=O,

, ,

{

lnx+ln4-ln9=ln3-lnv
c) Resoudre alors Ie systeme : 2,,:1+r I" .e -e =e -e

3-Ca1culer les integrales suivantes :
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- n cons I ere a onctlOn e lme sur 0 + en par f(x) = .x

a) Determiner a et b sachant que f(I)=1 et f(I)=O.
I

b) Ca1culer alors: ff(x)(I¥.
I

5- Determiner les reels a et b en fonction de r sachant que pris dans cet ordre, ils torment une
progression arithmetique et une progression geometrique de meme raison r.

6-0n considere la distribution statistique suivante :

Po ids (en Kg)
Nombre de personnes

[40 ;50[
4

[50 ;60[
15

[70 ;80[
30

[80 ;90[
5

[60 ;70[
46

a) Ca1culer la moyenne x , et l'ecati type ITde cette distribution.
b) Calculer Ie mode et la mediane de cette distribution.
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I-Calculate the following limits:
r l ~

1
. e - . I. -yX-j
1m I ( . I) . Im.~ ? "r->IJ n.\ + r-->-' .\ - _.\ --'

2- Given: A = e~r + e' - e't-r - e'

a) Factorise A.
b) Solve the equation A=O.

{

lnx+ln4-ln9= In3-ln r
c) then solve the system: 2r -' -'H r .e -e =e -e

3-Calculate the following integrals :

f
xE-I

I . . f
I+e-r

I .
( .\, . (.\

X (x - e-r)'

4- Consider the function fdetined on ]O+oo[by f(x) = (f+h(lnx) .
x

a) Determine a and b such that f( I)=1 and f( 1)=0.
I

b) Then calculate the value of: ff(x)d'\.
I

5- Determine the real numbers a and b in terms of r ,knowing that taken in this order, they
form an arithmetic sequence and a geometric sequence having same ratio r.

6- Consider the following statistical distribution:

a) Calculate the mean ~ , and the standard deviation (5of this distribution.
b) Calculate the mode and the median of this distribution.

weight (in Kg) [40 ;50[ [50 ;60[ [60 ;70[ [70 ;80[ [80 ;90[
Number of persons 4 15 46 30 5


